b) What haﬁ}aens at the PN juhctig)‘n when aﬁlN-typé and P-type
semiconductor are joined (when no voltage is applied)? (check all that apply)
Electrons near the junction move from the P to the N-type.
L Efectrons near the junction move from the N to the P-type.
Electrons near the junction do not move.

c) If some electrons re-adjust at the PN junction by moving from one to the
other, why don't all electrons move? That is, what stops them all from
moving? (Hint, think about the forces acting on the electrons)
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